MTH 111 Chapter 5 Graded Homework

Answer Key
5.1 #16 5.1#18 5.1#30
18. 423 — 42 -
16. 2(z+y)— 22z 20. (:c+3y)
2(y — =) z
x=-1,y=5
x:2’y23 —29 X=—3,y=4,Z=6
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5.1#42 5.2 #20 5.24#34

(322 +2)° — ¢

20. —(3z +y) — (224 Tw) — (3r — 55 + 2)

34.2.32% — 4.7z + 0.922% — 2.13z

a’b*

42.
6 — 3z2y?
—3x—y—2z—7w—3r+5s5—2 3.22x2 — 6.83x
x=—-1y=2,z=-3
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5.2 #46 5.2 #76 5.4 #58
46.7 — (—z —y) + 2y 76.13 (73 = 2%) —9 (sw +9§> 58. (—2ab?)’
2x + 3y y 239 4a’b*
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5.4 #66 5.6 #20 5.6 #30
20. (422%4°) + (—14z%y*) 30. (—144z%2%) + (216z°y>2)
66. (—ab?)’
2 272
y - 3x3y2




